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ylEx ITREBIL, x=4 DEE y=12 TH

NO.2 %| )
. s yIZxD—REHT, T3I821K (2,7),
ROBADAERD &, 21| (5,19) £ BAERTH B,
1| ylEZxITlBIL., x=4 DEE y=12 THS, 28| ylIxIClEBIL. =6 DEET y=-3 TH D,
2| yldaxlzREHIL, =3 DEE y=8 THS, 29| ylIxIcREHIL, x=5 DEE y=4 TH5,
g| vIExD—REHT, T5TH21 (1,3), qo| VIExD—REHT. TSITM2R (2,5),
(3,7) ZBIERTH D, (6,1) ZBHEHRTH 5,
4| ylIxICEBIL, x=5 DEE y=20 TH 5. 31| ylFxICkBIL, x=6 DEE y=42 TH5,
50 ylFaxlcREEBIL, x=4 DEF y=3 THS, 2| ylFxITREFIL, x=4 DEE y=9 THD,
6| vidzD—REHT, TS5 I7M28 (2,4), g3| vIETD—REHT, J57M248 (2,5),
(5,13) ZBHEHRTH S, (5,17) ZRDPERTH D,
7| ylExlTlBIL, x=—2 DEE y=10 THD, 4| ylFxITHBFIL, x=-3 DEF y=18 TH D,
8| yiEclSREMIL, =3 DEE y=5 THE, | (3| JFrEREAL. 222 QLS y=-12 TH
g| YRETO—REAT. TSIH2R (1,3), qg| VIED—REMT, TSIN2[ (-3,7),
(3,-1) ZBHEHRTHD, (1,-1) ZBHEHRTHD,
10| ylExIcBIL, x=6 DEE y=2 THb, 37| ylExITBIL, x=-3 DEEF y=—9 THD,
1l vEzEREBIL, z=-2 DEE y=—6 TH ag| VIFxICTREBIL, x=—6 DEF y=23 TH
60 60
19 yldxD—REAYT. F5I70282 (1,1). 29 ylIExD—REET. YT IH2H (4,9),
(3,9) ZRDEHRTHD, (7,15) ZBAHAEHRTH D,
13| ylExIcBIL, z=4 DEE y——8 TH5., 40 éy'“':ttmh x=—4 DEF y=-20 TH
1) [FxlcREBIL. 2=7 DEF y=—d TH| 14| iz cRUEBIL, 128 DEE y=4 THH.
15 yldxzD—REAYT. F5I7h282 (2,3). " ylIdxD—REAYT. Y7370 28 (2,4).
(5,0) ZRDPERTH D, (6,6) ZRHERTH D,
16| ylExITHBIL, x=3 DEE y=-30 THD, 43| ylExITHBIL, x=10 DEE y=-—2 THD,
17| VECIRREBIL, x=2 DEE y=10 TH | |4| vEzIZREFIL, 2=3 DEE y-2 TH
B, %o
18 ylFxD—REAHT. FI3IHh28 (1,-3), 45 ylIdxD—REAYT., F53IM28 (1,4).
(4,3) ZBRHERTH D, (3,-2) ZRHERTHD,
19 ylFxIcBIL, z=12 DEE y=3 TH5, 46| ylFxITBIL, x=5 DEE y=40 TH5B,
2| FalcREBIL. 2=9 DEE y=-3 TH| 49| \Ho2RUBIL. zo7 DEE y=9 THB.
o1 ylFxzD—REHT. F53IH21 (3,10). 48 ylIdxD—REAYT. F3IM28 (2,5),
(5,16) ZBAHEHRTH b, (5,17) ZRPEHRTH 5,
22| ylIxITHBIL, x=3 DEE y=-15 THD, 49 ylExITEBIL, x=-7 DEF y=28 TH 5,
3| YETIZREBIL. x=—4 DEE y=5 TH| |py| yFrlTREBIL. z=-3 DEE y=-11 TH
60 60
gq| VB D—REMT, IS5TM 28R (2,1), 51 yldxD—REAYT. F53IM28 (1,3).
(4,-5) #BHEHRTH D, (3,-11) ZBAHEHRTH D,
25 y lixl:tt15']l,~ r=—6 o)t% y=—24 —6373

60




RULTUY R Bl - REEBI - —RESHDHRERDD

K&

NO. 1 26| ylZxlREBIL, 2=8 DEE y=6 TH5D.
. s =t = vidae D-—REHT, F5IMN21 (3,1),
ROBEHDAERD & 21 (7.9) #BAEETHS.
1| yldxIZEBIL, x=3 D&EE y=15 THS, 28| ylExxIcHEBHIL, x=6 DEE y=—2 THb.
2| ylExlcREEFIL, x=3 DEE y=4 THb. 29| ylEdxIcREBIL, =2 DEE y=9 TH5,
g| VB O—REHT. TS5IH2R (1,5), 50| VIEFxD—REBT, FS5IHN2/R (1,2),
(3,9) #BHEHRTH D, (5,2) “BHEHRTH .
4| ylZxIZEBIL, x=4 DEE y=20 TH5, 3| ylExZkBIL, x=8 DEE y=56 TH5,
5| ylExlcEEBIL, x=4 DEE y=6 TH 5. 2| ylExIcREEBIL, x=4 DEE y=7 TH5,
6| VFzD—REHT. FS5IM2R (2,1), 3| VI D—REBT, TSITHN2/R (3,2),
(5,7) #BHEHRTH D, (5,10) #RHPEHRTHD,
7| yldxlZlBIL, x=—2 DEE y=6 THH, M| ylExITHBIL, x=-3 D&E y=24 TH5,
8| ylEkxlcRHEBIL, x=2 DEE y=5 TH5, 35| YIFTISREBIL, 2=-5 DEEF y=-3 TH
%
9 yldxD—REA#FT. F57h28 (3,7), 26 ylExD—REHT, 57”28 (-3,3),
(5,3) #BHEHRTH D, (-1,-1) #B5EHETHS,
10| ylEzlcHBIL, =6 DEE y=3 THB. 37| J [FxlSteflL, z==2 D&EF y=-10 TH
11 g(ixl:}ittﬁ'lL\ t=—3 D&E y=—6 THh 38 yldxlCREBL, x=—6 DEE y=—2 THh
o 60
19 ylFxD—REHT. F3I7M28 (1,3), 29 ylXxD—REAHT. F537h2m (7,15),
(3,13) #B5EHETH S, (9,19) “BAEHETHD,
13| ylEzISHBIL. 222 DEZ y=—6 TH5B, 40| J FxlchBIL, 2=—5 DEE y=-20 TH
14| yRTIEREBIL. 226 O&Z y=—d TH| 4| yigoicRUBIL, 2=7 DEE y=6 THb.
05 ylFxD—REHT. FS3I7M28 (2,5), i yldxD—REHFMT., F53IMN25 (3,3)
(4,3) #BHEHRTH D, (6,9) ZBHEHETHS,
16| ylXxICBIL, x=5 DEFT y=-5 THH, 43| ylIxICEBIL, x=8 DE=EF y==2 TH D,
1| 4 [ExlmREBIL. 2=—4 DEF y=5 TH | \44| g2 RUBIL. 2=3 DEZ y=9 THB,
18 ylXxD—REHET, F5I7h2m (-1,-5), 45| Y X x O—REET. Fy537h 28 (1,5)
(2,1) #BH5EHTH . (4,-1) #BH EHRTHD,
19| yldxICHFIL, x=9 DEE y=3 THb. 46| yldx(CHBIL, x=3 DEZXE y=27 TH 5B,
20| [Fzl=REBIL. 2=8 DEF y=3 TH | (47| yidxlcRHBIL. 14 DEE y=9 THB.
21 yldxD—REA#-T. 57028 (3,7), 48 yldxD—XREET, T3 7Hh 28 (2,3),
(5,11) #BPEHRTH 5. (5,15) #@HHEBTHD,
22| ylgxIZtbBIL, x=4 DEE y=-16 TH D, 49| yldxlztBIL, x=—6 DEE y=24 THS,
23 yldclREFIL, x=4 DEE y=—4 TH 50 yldxICREFL, x=—5 DEE y=—6 TH
60 60
24 yldxd—RE#T, F57h248 (2,11), 51 ylXxD—REEMT, F57H2E5 (-3,10),
(5,2) ZBHEHRTH . (1,-2) #BHEHRTHS.,
25 y lztxl:l:l:ﬁ'll“ r=-7 0)&% 1/2—21 —637)
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